Example: The points (-5, 6, 0), (0, -5, 6), (-5, 0, 6) lies in the XY-plane, YZ-plane and ZX-
plane respectively.

e distance formula

Distance between two points P(¥1 ¥1 Z1) and Q(x2 ¥2 22} is given by

PQ = y(xa—x1)2+ (ya—¥1? + (22— 212

Example: Find the point(s), lying on the z-axis, whose distance from point (2, -1, 3) is 3 units.
Solution: Let the required point be (0, 0, 2).
We know that the distance between two points (X1 ¥1, 21) and (X2 ¥2, Z2]is given by

1/(-1'2 )t vz —>) tizz —213'2_

Therefore,

Vi2—02+(-1-072+(3-2)%2=3

On squaring both the sides, weget
A+1+9+z°-62z=9

=72 _Bz+5=0 \-)K

=7°_Bz—74+5=0 a\e
=2(z-5)—1(z—5)=0 NOXQS

=z=15 ) ﬁ O‘ 2
Thus, the\gf@ﬂ;}] s)ln\tlhe z@iaggo,%and 0,0, 5).




